S B—-3E=a false
8 F=a = false
B A= +at tue
8 o=~ b e

Btndthounlmown side length. Simplify answers that are radicals.
wh ‘. mumm:wwu

13

11. ‘2.

8. no

The given lengths are two sides of a right triangle. All three side lengths
of the triangle are integers and together form a Pythagorean triple. Find
the length of the third side and tell whether it is a leg or the hypotenuse.

13. 40and 41l 9 leg 14. 12and 35 37; hypotenuse 18. 63 and 65 16. leg
16. 28 and45 53, hypotenuse 17. S6and 65 33, lep 18. 20and 29 21; lecg
19. 30and 89 39 leg 20. 48and S5 73; hypotenuse 21. 65and 72 97, hypotenusc

Find the area of a right triangle with given leg [ and hypotenuse h.
Round decimal answers to the nearest tenth.

22. £=8mh=16m 554m° 28. 1 =9yd h=12yd 357 yd'24. £ =35 h=911 43 i

25. L=9mi,h=10mi 26. £=2lin,h=2%9mn 27. I =13cem, /it = 17cm
19.6 mi” 210n.* 71.2 amy’
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For use with pages 440-447

Decide whether the numbers can represent the side lengths of a triangle.
If they can, classify the triangle as right, acute, or obtuse.

1. 5,12, 13 ves; nght 2. V8,4.06 ves; obluse 3. 20.21,28 yes, atue
4. 15. 36. 39 YCS, I'M_:l‘\! 8. VI13. |0. 12 VES OUsSe 6. 14, 4N, 54) Vs 't‘;i!'

Graph points A, B, and C. Connect the points to form . ABC.
Decide whether )\ ABC is right, acute, or obtuse.

7. A(—3,5), B(O, —2), C(4, 1) 8. A(=—8, —4),8(—5, —=2), Ci—1, =T7)

) ﬁ - | acute ' | $ obluse
—Q—A— ] —l»» 4 - - « 3 -

i ‘ 3 p I

] 2 1 t——tn i 3
— l .C - c.)Q ./\.\ 5 :

l EBE \
— =1 == el il

8] |
H -l | e . .
| l 1 - -

i }
9. A4, 1), B(7, —2), C(2, —4) 10. A(—2,2), B(6,4), C(—4. 10)
""'['1 o—y—»~Al—---~-l _:[ acure rieh
. = . J
27 [ &
V18] |
l
. A4(0.5), B3, 6). C(5, 1)
87 T 18 obtuse ohhuse
;&Wmh‘

S s B . S A A

B

Ly

13 in.

‘ 32 1n°
(056 m* 312 1{3

slow-pitch softball, the distance of the paths between gch mo
Softball n bascs':s 65 feet and the paths form night angles, F’mdthe ance () ;_
baseball from 3 feet behind home plate to second M

consecutive
catcher must throw 4

istance A small commuter airline City B

* :nl::?::: l(:mce cities whose locations form the :
vertices of a right triangle. The _tolu_l flight

distance (from city A 10 city B to city C and

back to city A) 1S 1400 miles. It is 600 miles

botween the two cities that are furthest apart. : =

Find the other two distances between cities. City C Fiom

400 + 100V2 = 541.4 m1, 400 — 100V2 = 258.6 mi 2

_38, use the following information.

..‘
Y —
' l ' 'v. 1 : b
: .‘_ y .

in Exercises 36
Garden You have a garden that 1s in the shape of a right tnangle with the dimensions <} y

3@. [Find the perimeter of the garden. 330 1m.

37. You are going to plant a post every
15 inches around the garden’s penmeler.

How many posts do you need? 2 2 pOStS

38. You plan to attach fencing to the posts
to enclose the garden. If each post costs
$1.25 and each foot of fencing costs $.70,
how much will it cost to enclose the garden?
Explain. $46.75. There are 22 posts, 50 buving "2 pOSs costs
$1.25(22) = $27.50. The penmeter of the garden is 330 inches, or
27 S feel. so the fencing costs $:70(27.5) = $19.25. The combined
cost is $27.50 + 51925 = $46.735.

uwsov | Practice B cominves
72 F')( use vath pages 430447

l o — e

The sides and classification of a triangle are given below. The length of
the longest side is the integer given. What value(s) of x make the triangle?
16. xv.x Briighl x = 4V 16. x,x, 12;0btuse 0<y=<@y2

-

17. . 6 acuto v o 25ulas. xx+23, 15 0btuse. 0<x<D

19. x, r — §,40; nght 20. x+ 2, x + 3,29 acute x>18

In Erercisns 27 and 27, use the diagram and the following information.
Kool The roof shovn e the diagram at the rights shown from the front of the house.

the slope of the roof s 5 vhe height of the roof 1s 15 feet. n

21, What s the length from gutter to peak of the roof?” 39 fi

22. Avow of shingles is S irches high. How many rows
af shingles are needed for one side of the roof?

1 LD Vg iU

In Exercises 23-25, you will use two different methods for ¢
whether /. ABC is a right triangle. Sce below,

23. Method 1 Find the slope of AC and the slope of BC. B(-3,7
What do the slopes tell you about £ZACB? 1s A ABC | =

E‘§

a right triangle? How do you know? “=E !@L ?’
\ i
24. Method 2 Use the Distance Formula and the Converse .-P gs i

‘!Vﬂ[’]!- 1]

ol the Pythagorean Theorem to determine whether ~T Tn '
L ABC s a night triangle. L B! .

N =L

25. Compare Which method would you use (o determine

whether a given triangle is right, acute, or obtuse? : ;_— HEEE E
Explain.

I 4 4
23,5 =5 Bccause‘-s—l-g)-- -1,4C L BC, '

30 £ACE is a right angle. Therefore LABC s aright i n e definitions

24, (.AC)I +(BC’2 25 425 =80 = = _ ol
AABC lsanghltﬁangl& 25 50 (M ”m’ ‘- \{l)u‘; . tx.}” ‘.,.!-»,-.‘-,_:.,, ,

25‘ smr,tby ﬁndmg mﬂmmm&“ T bq ulis "-. T ot teaar .‘,"" 1 no W
perpendicular line segmems, then P & R & e iy

-----




» with m ’/:?.:’: :

l t ﬁl‘ﬁ# de of < \'” L.

2. AXYZ ~ Ayuz
3. 7wl X7

8. LVWZ = £XYZ
S.2=42

6.2 AXYZ- AVWZ

9. 1. AYUZ ~ A¥VWZ

S

O = .‘2 t‘ ! : :

. 1 In Exercises 17-19, use the diagram.
= 40,

: | 17.  Sketch the three similar tnangles n the diagram.
C=337 Label the vertices.

is a right triangle. If so, find the length of the
. Round decimal answers to the nearest tenth.

11. 6v19 12.

ALKS ~ AKMI, ALKS ~ ALMK,
Write similarity statements for the three triangles. ARKM/ ~ LLMK
sometric Mean Theorems to find AC and BD.

. — Which segment’s length 1s the geometric mean of
. 240 g g LMand JM? KM

Kite Design You are designing a diamond-shaped
Kite. You know that 4B = 38.4 centimeters,
BC = 72 centimeters, and AC = 81.6 centimeters.

You want to use a straight crossbar BD. About how
long should it be? about 67.8 ¢m
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Find the value of x. Write your answer in simplest radical form.
r 6V2

Find the value of each variable. Write your answers in simplest

ical form. asy=12v2
radical form = 10V2, 5= 100 n=30.p=15.9 = 15V3 x:—.4&y~;tl2ﬁ
16. 30 A

rid the value of each variable. Write your answers in simplest . b d_ fEEp= i 3
Tadical form, {0 T - a=4V3, bh=27) ¢ =12V2,d =24 .
i = S M= ]S X =4, = 3V 3 3 4] oV, - ' ' SO S~y
N ) LB ) 9. The side lengths of a triangle are given. Determine whether itis a
45°-45°-90° triangle, a 30°-60°-90° triangle, or neither. 4 -

21. 5.10,5V3 30°-60°90° 22, 7,7,7V3 neither 3. ¢ ﬂg. 4!;.; S 45%9(°

24. Roofing You are replacing the roof on the
house shown, and you want to know the total
area of the roof. The roof has a 1-1 pitch on
both sides, which means that it slopes upward
o NG T ata rate of 1 vertical unit for each 1 horizontal unit.
= V= - ' - ; \

a. Fmdlhevaluesofx'andvmthedm'_,ﬁ_ﬁ_'-’ RN lMﬂ hE
b. Find the total area of the roof 1o the nearest square foot. 1188 -‘.C‘i'

Skateboard Ramp You are using wtiod Mﬁxﬂl&
a Wlamld'smped Skawwm ‘.' an & /
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maximum height wheé@ee@\m own,
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